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No.of equity shares 72000

PROBLEMS BASED ON CURRENT ASSETS

S) Calculate current assets from following information.
Current ratio = 4
Current liabilities = 120000

Ans : Current Assets Rs. 480000

Current asset§_

Hint : Curr i =
_ shhiatie Current liabilities
By cross multipication we will get
Current Assets = Current liabilities x Current ratio

n 1

120000 x 4 = 480000
6) From the following, calculate current ratio
Current Assets

& RATIOS

Current Liabilities

Stock 200000 Sundry creditors

Debtors 300000 Bills payable
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Cash in hand —300000  Outstanding expenses 20000

800000
Ans : Current ratio 2:1 ~400000
Hint : Calculation of Current Ratio

_  Current assets e 800000
CHpeniiratio Current liabilites 400000 - 2]
7) From the following information, Complete the current ratio
Sundry Debtors 500000
Cash at Bank 120000
Stock 160000
Machinery 100000
Sundry Creditors 160000
Prepaid expenses 40000
Short term investment 80000
Bills payable 80000
Debentures 500000
Outstanding expenses 160000
Ans : Current ratio= 2.25:1
1) Calculation of Current ratiCo o S
3 urrent Assets
SUontiRatio = Current liabiliies  4nnnan - 2.2501
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10) From the following data calculate net profit ratio.
Net profit Rs. 42000, Sales Rs. 300000.

Ans : Net profit = 14%,

Hint :

Net profit 42000 T
io = 100% weS<s2uUS _
Net profit ratio Sas X 300095 A0
alrmilatAa mAd e L

11) From the followina informatian ~
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15) You obtain the following information from the records of Krishna Ltd.

2013 2014
Sales 800000 1700000
Cost of goods sold 600000 1100000
Find out gross profit ratio for each year.
Hint :
1) Calculation of Gross profit
2013 2014
Net Sales 800000 1700000
Less Cost of Goods sold 600000 1100000
Gross Profit 200000 600000
2) Calculation of gross profit ratio 2013 2014
Gross Profit 200000 600000
Gross profit ratio = x 100 = ----oeeeeme x 100 --=--—-—- x 10
Net Sales 800000 1700000
= 25% 35.29%
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2) Compute sales from the following.
Current ratio is = 2:1
Liquid ratio is = 1251
Current liabilities are Rs. 400000 and inventory turnover ratio is 9 times.
Ans : Sales 1800000 (Gulbarga May 2012)
Hint :

2 LR Current assets
ratio = T
a) Curren Current liabilities

Current assets
400000
By cross multiplication we will get current assets

Current assets = 2 x current liabilities
= 2 x 400000 = 800000

2 =

Scanned with CamScanner



A X 400000

= %omo0

o Va4 Ea 1.

PR R

Scanned with CamScanner



@ = tl: il <

120000
- 9% J00000 -
= .__\ 20000 _O : ~
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Jalis = Taueddt
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12) Calculate the value of stock from the given information. Current liabilities

of a company are Rs. 300000. Its current ratio is 3:1 and quick ratio is el
Solution : Current liabilities = Rs. 300000
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14) Ashok Ltd has furnished the following information regarding its current
assets and current liabilities :

Current assets Current liabilities
Cash 10000  Sundry creditors 60000
Debtors 58000  Bill payable 32000
Bill receivable 10000 Outstanding exp. 16000
Marketable securities 30000 __108000
Stock 104000
Prepaid expenses __ 4000

216000

Calculate current ratio and Liquid ratio
Ans : Current ratio 2 : 1 Liquid ratio 1 : 1

Hint:
1) Calculation of liquid assets 2) Calculation of liquid liabilities
Cash 10000 Sundry creditors 60000
B/R 10000 Bills payable 32000
Debtors 58000 Outstanding expenses 16000
Marketable Securities 30000 _ 108000
108000_

Note : Current ratio is 2 : 1 and Liquid ratio is 1 : 1 which are considered as
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PROBLEMS BASED ON OPENING AND CLOSING STOCK
33) From the given information calculate closing stock and opening S
Closing stock is 10000 more than the opening stock
Average stock is Rs. 120000.
Ans : Closing stock 125000 opening stock 115000
Hint : Calculation of opening and closing stock.

tock.

Opening stock + Closing stock

2
Opening Stock + Closing stock = Average stock x 2
= 120000 x 2 = 240000

Closing stock is in excess by Rs. 10000 hence.
240000 — 10000 = 230000 be equally divideq

230000

Average stock =

Opening stock = 5 = Rs. 115000
230000  _
Glosihg stock - fEOgF=5 " Rs. 115000 + 10000 = 125000
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52. Prepare balance sheet from the following information of Aravind Co. Ltd as on 31-
3-2014.

Gross profit ratio - 20% on sales
Debt collection period - 2 monhts
Shareholders fund - Rs. 1500000
Reserves - 50% of share capital
Current ratio - 2.5

Fixed assets turnover - 2 times
Net working capital - Rs. 600000
Quick ratio - 1.5

Stock turnover - 6 times (on cost of sales) (Gulbarga May 2011)
Ans : Balance sheet total 2200000

(VSKD May 2015)
&
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